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20169 &= S0l A& B H BE S
SN BEO
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el BEe ARA Y (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EEHH 315,700 355,771 AN40,071
BEH 29 222,359 249,138 N26,779
EEEH AIE H | 222,359 249,138 N26,779
ARAPF=AAE 53,900 50,000 3,900
301 et A= 3,900 0 3,900
01 Al B & A 46 2 3,900 0 3,900
O Z2Y LHEH| X (F0IAHEH) 3,900
401 Al HI L 2 0HHI 50,000 50,000 0]
01 A& H| 50,000 50,000 0
OARZFOHAAS 50,000
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09 SHAIAHI B A2 3,300 4,800 A 1,500
OO EEIE 25,000& 10 23] 500
O=&H 20,000& x50 1,000
OJ|EFSH A} 800
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11 JIEtE A= 1,000 1,000 0
OsYdeHI& 1,000
ANESSEH 29 5,939 5,939 0
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OxAazel Sl 150,000& * 104 & 150
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Ol 82,000
e 200,000 x25H x12& 60,000
A0 200,000 252 *200% 10,000
SOl A 20,000 25 x 128 23| 12,000
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HAF22] 74,670 93,849 A 19,179
101 e1214| 10,910 7,319 3,591
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232 1,260,270& x12& 15,124
a0 = 1,260, 2703 *400% 5,042
WS Y XH| 120,000& =128 1,440
gAY 130,000& = 12& 1,560
A2t 225
10,789& x15A| 2+ *1 5H*12& 2,914
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